0 E?’X%;&*ﬂ%&#iﬁ%’f’@*ﬂﬁﬁﬁ?iﬁﬂﬁﬂ% , AT BRI S /K E O,
‘ HEAEIEE P ECBATK A EIRAITEL |, AR ROBIR | BA. 9. RaS.
L.

L lﬁﬁii‘é’ :
EERRDIIEREESS  NEES  BaEE ($5flk) | FREE
@E, % (REEX)
o BXERRERIL (TIFIL)

=] ﬁIE FU‘P\U& Uﬂﬁﬂé UH'DE 12 lﬁl%EL 4

@ mm g 1&/58 /58

4052800009 300 4350 160°C 1/2"GF 3-M6x6 6-M6x6 20 35x77 50+150%* 400 1 4059900046 1

4052800010 300 4350 160°C 1/2"GF 3-M6x6 6-M6x6 30 35x77 50+150% 400 1 4059900047 1

SNDH 4052800011 4 300 4350 160°C 3/4’GF 6-M6x6 4-M6x6 30 50x100 100+200%* 800 1 4059900048 1
HERS SIS 4052800012 8 300 4350 160°C J4'GF EM6Xx6 4MEx6 40 50x100 100:200% 800 1 4059900049 1
4052800013 300 4350 160°C 1"GF  6-M6x6 4-M6x6 50 50x100 100+200% 800 1 4059900050 1

4052800014 300 4350 160°C 1"GF  6-M6x6 4-M6x6 70 50x100 100-200% 800 1 4059900051 1

* ER#BIT100mm ( 3.93% Y ) NEESHZE
R : BERAEINAISI A420485E



